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it 71
" Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes \
| the sentence. Then mark your choice on your answer sheet. |

— e |
e wp— i —— i T L e i e o B A ——— o et .

PART A: Vocabulary

Even as a young man he had been as a future chief executive.

1) equipped 2) perceived 3) submitted v4) maintained

In exceptional ------ students may arrange to take examinations at other times.

1) alternatives 2) implications 3) circumstances  4) distributions

There was a noticeboard ----------- -- job vacancies and information on how to apply for them.
1) imposing 2) monitoring v3) displaying 4) transferring

After a full -------e--- lasting over 2 years, very little new evidence had come to light.

1) approach 2) exploitation 3) investment 4) investigation

The measures taken should considerably ---—----—--- the residents’ quality of life.

| ) insert 2) trigger 3) advocate 4) enhance
I'echnological advances could -~---—--- -- lead to even more job losses.

1) randomly 2) inherently 3) ultimately 4) empirically

By completing a task on schedule you may --— a feeling of pride in your work.

1) devote, 2) derive - 3) undergo 4) glance

Roman coins that she showed me were --——-—----- -- to the one I had found in the garden.

1) crucial 2) specific . 3) adjacent 4) identical

A thorough understanding of mathematics is sufficient to explain a wide variety of natural
1) criteria 2) principles 3) phenomena 4) components

For centuries housework and shopping have been identified as female - ‘

1) targets 2) domains 3) sectors 4) contexts

PART B: Grammar

| Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
besr fits each blank. Then mark

There are many methods of mining, (11) ----=------- is based upon where a mineral deposit

P - in the earth. While some mineral deposits are far (13) ------------, others lie at or
(14) =---emmmeev the earth’s surface. Several different mining methods (15) ----------— deposits occur
close to the earth’s surface.

1) that 2) each of which . 3) every method 4) while any of them

1) is found 2) found 3) finding 4) being found

1) away 2) deep 3) from 4) underground

[)in 2) near 3) within 4) above -

1) are used when 2) which used 3) when used 4) which are used



M,‘WW)UQp}TMGQNgg fw)&w
Y amio AVFT o5 ) oSl b5

PART C: Reading Comprehension

Directions: Read the following two passages and choose the best choice (1), (2), (3), or
(4).

Passage I:

Please choose the best answer for the following questions based on this paragraph:

The term geomatics is fairly new, apparently being coined by B. Dubuisson in 1969. It is
commonly defined as "hunter and gatherer" to include the tools and techniques used in
land surveying, remote sensing, Geospatial Information Systems (GIS), Global
Positioning System (GPS), and related forms of earth mapping. Originally used in
Canada, because it is similar in French and English, the term geomatics has been adopted
by the International Organization for Standardization, the Royal Institution of Chartered
Surveyors, and many other international authorities, although some (especially in the
United States) have shown a preference for the term “geospatial technology”. The precise
definition of geomatics is "Hunter and Gatherer" and flux in retrospect. A good definition
can be found on the University of Calgary's web page titled "What is Geomatics
Engineering?": "Geomatics Engineering is a modem discipline, which integrates
acquisition, modeling, analysis, and management of spatially referenced data, i.c. data
identified according to their locations. Based on the scientific framework of geodesy, it,
uses terrestrial, marine, airborne, and satellite-based sensors to acquire spatial and other
data. It includes the process of transforming spatially referenced data from different
sources into common information systems with well-defined accuracy characteristics.”

In spite of the fact that GEOMATICS is used by many international authorities, there are still

some people who would rather use than GEOMATICS.
1) modern engineering discipline 2) spatially referenced data
3) hunter and gatherer ~.4) geospatial technology

Based on the definition of University of Calgary, the term GEOMATICS does not include -----

1) Transformation of spatial data

2) Integration of hunting and gathering

3) Collection of both spatial and non-spatial data

4) Modeling of data which are identified by their locations
Spatially referenced data are -

1) defined based on their position 2) data with special characteristics

3) the scientific framework of geodesy 4) satellite based sensors for collecting data
Who.has started to use the term GEOMATICS?

1) United States 2) Canada

3) Royal institution of chartered surveyors 4) International organization for standardization
The term GEOMATICS is~-=--vv=--

1) an old term 2) meaninglessterm  3)a 1969 coinname  4) quite a new term
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Passage I1:

Please choose the best answer for the following guestions based on this paragraph:

Raster data type consists of rows and columns of cells where in each cell a single value is
stored. Raster data can be images (raster images) with each pixel (or cell) containing a
color value. Additional yalues recorded for each cell may be a discrete value, such as
land use, a continuous value, such as temperature, or a null value if no data is available.
While a raster cell stores a single value, it can be extended by using raster bands to
represent RGB (red, green, blue) colors, colormaps (a mapping between a thematic code
and RGB value), or an extended attribute table with one row for each unique cell value.
The resolution of the raster data set is its cell width in ground units. Raster data is stored"
in various formats; from a standard file-based structure of TIF, JPEG, etc. to biﬁar_nf large
object (BLOB) data stored directly in a relational database management system
(RDBMS) similar to other vector-based feature classes. Database storage, when properly

indexed, typically allows for quicker retrieval of the raster data but can require storage of
millions of significantly-sized records

An indexed database storage for raster data --

1) is always faster than non-indexed ones

2) can have trouble with storage requirement |

3) needs permission of the administrator for quicker retrieval of the data
4) is not only faster but also more flexible in terms of storage requirement
Each cell of a raster data type stores --—=- — -

1) only a single value

2) pixel values of an imagery

3) rows, columns, and cell value

4) TIF, JPEG, and other file based structure formats

The main subject of this paragraph is
1) RGB colors

2) Binary Large Object (BLOB)

3) Raster Data Type

4) Relational Database Management System (RDBMS)

Binary Large Object (BLOB) is --—--- —.

1) one form of storage format

2) similar to RGB (red, green, blue) colors

3) a relational database management system
'4) some kind of colormaps which maps between a thematic code and RGB value

Which one of the following sentences about raster data types is not correct?
1) They can handle null value attributes.

2) They can handle single value attributes.

3) They can hardly handle multi-value attributes.

4) They can easily handle both discrete and continuous attributes.
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The third chapter decals with the reference systems such as coordinate systems (like terrestrial
and cclestial reference frames) and time systems. Here “deals with” means:

1) Relates 2) Connects 3) Explains 4) Introduces

With A.S. activated, in the emitted signal the P-code is replaced by the unknown Y-code,
therefore, the traditional P-code correlation technique can no longer be applied. Here
“emitted” means:

1) Secret 2) Received 3) Well Known 4) Transmitted

Apart from radiation power, the frequency of the radio link is the critical parameter for
transmission performance, i.e., the higher the frequency, the more data can be transferred in
the time unit. Antonym for “apart from” is:

1) Together 2) Neglecting 3) Along with ~ 4) Considering

The Digital Image Processing book provides a balanced treatment of image processing
fundamentals and the software principles used in their practical implementation. Here
“treatment” means:

1) Cure 2) Remedy 3) Management 4) Implementation

After the parameters in question have been estinated, the structure of the classifier is fixed.
The “parameters in question” means the parameters which are:
1) Underestimated 2) Overestimated 3) Well known 4) Sought
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